O0untOD000ododPODFOOOOOUOOUOOOOO
Ooooon
https://www.100test.com/kao_ti2020/475/2021 2022 E5 85 B3 E
4 BA 8Ejuni_c67 475821.htmI 00 000O0OOOOOO0O
Jododoboooooodobooouooouoooooa
Jo0d0o0d0ododoOHowd DO OO0 OO0OOOOOWhat
Jo0odooooooodoooouoooooooooa
J0o0dooooooodoooooooooooooa
O O JUnittd O Erich Gamma O KentBeck O U 0O O 0O 0O O O O
J0o0doo0oooodoooooooooooooa
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
OO0 0000 OJunitd O O http://www.junit.orgtd O O O O O
038100 Ojunit-3.8.1zip.0 00 0O 0cOyunit O OO O
OO0 0000 o0odoeced\unitd OO O classpathd O O O
“c \junit\D cO \junitjunitjard ” OO0 0000 OoO0oOdo
0 00O 0O java junit.swingui. TestRunnerd D O O O 0O 0O 0O O O
Jd0o0dobooooooooooooooooooao

LI junit.samples. AllTestsL] L 00 Run” OO OO0 OOOO O
OOOOTESTUOOODODODODOOMYBeanD OO OO OO
0O 0O 0O 0O O O package junit.samples.import java.sgl.*.import
java.io.*.public class MyBean{Statement stmt=null.ResultSet
rs=null.Connection conn=null.String result=null.public String
con(){//0 00000 try{
Class.forName("org.gjt.mm.mysql.Driver").newlnstance(). String
url



="jdbc:mysql://192.168.0.88/weboa?user=root&amp.password=".co
nn= DriverManager.getConnection(url).return "Connection
Success!".}catch(Exception e){System.out.printin(e).return
"Connection Error!".}}public String gogo(String Imdm){ //0 U [
[ O try{ stmt=conn.createStatement(). String sql="0select * from
TB LM where N_LMDM="Imdm "".rs=stmt.executeQuery(sql). //
O O O O while
(rs.next()){result=rs.getString("N_SJID").}}catch(Exception
e){result=e.toString().}finally { //00 O JDBCLO O if(rs = null) try {
rs.close(). } catch(SQLEXxception ex) { ex.printStackTrace().
Hf(conn = null) try { conn.close(). } catch(SQLEXxception ex) {
ex.printStackTrace(). }returnresult P} 0 OO0 0 OO0 0 OO O

[J TestMyBean[] [ [J [J package junit.samples.import
junit.samples.MyBean.import junit.framework.*.public class
TestMyBean extends TestCase { //TestCasel] L1 [ private MyBean
aName. //00 O O 0O O O O O public TestMyBean(String name) {
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